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All work must be shown to receive credit.  Give all answers to the correct number of significant figures

Constants

	NA = 6.022 x 1023 mol-1
	Proton= 
	Neutron =

	R =   8.3145 J/(mol K)    =  0.08206 L atm/(mol K)
	c = 
	

	1 MeV = 1.60 x 10-13 J
	e- = 0.000548597 amu
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Section 1: Multiple Choice (2 points/question)
1. The binding energy is defined as the amount of energy
a) Absorbed when electrons are added to an ion.
b) Absorbed when protons and neutrons form a nucleus.
c) Released when electrons are removed from the atom.
d) Required to break apart a nucleus into individual protons and neutrons.
e) None of the above

2. A "critical mass" of uranium-235 is 
a) The atomic mass of this, the lightest radioactive isotope.
b) The atomic mass of this (or any other) isotope necessary for it to become radioactive.
c) Because it is a very powerful chain reaction.
d) The crowd at a Springfield "Isotopes" game.
e) The mass of the isotope necessary to sustain a nuclear chain reaction

3. The curie is a measure of the
a) Number of disintegrations per second of a radioactive substance.
b) Total energy absorbed by an object exposed to a radioactive source.
c) Lethal threshold for radiation exposure.
d) Number of alpha particles emitted by exactly one gram of a radioactive substance.
e) None of these is correct.

4. Which of the following nuclear processes results in an increase in the number of neutrons in the product element?
	I. Alpha emission
	II. Beta emission

	III. Positron emission
	IV. Electron capture



	a) I and II
	b) III and IV
	c) I, II, and III

	d) II, III,  and IV
	e) I, II, III, and IV
	



	5. List the different types of nuclear radiation (alpha, beta, and gamma) in order of increasing penetrating power.



	a) alpha < beta < gamma
	b) beta < alpha < gamma
	c) gamma < alpha < beta

	d) gamma < beta < alpha
	e) alpha < gamma < beta
	



6. [bookmark: _GoBack]The smallest number of stable nuclei has a _________ number of protons and a _________ number of neutrons.

	a) even, even
	b) even, odd
	c) odd, odd	

	d) odd, even
	e) Both b and d



7. Which of the following compounds could contain exactly one triple bond? 

	a) C5H12
	b) C5H10
	c) C6H12
	d) C6H10
	e) None of these contain a triple bond



	8. What role does cadmium metal (Cd) play in a nuclear reactor?

	a) slows down the fission neutrons (moderator)

	b) transfers heat from the reactor to the heat exchanger  (primary coolant)

	c) undergoes fission (fuel rods)

	d) transfers heat from the condenser to the environment (cooling tower)

	e) controls chain reaction (control rods)


9. Structural isomers have
a) Different molecular formulas and different structures.
b) Different molecular formulas but the same structure.
c) The same molecular formula and the same structure.
d) The same molecular formula but different structures.
e) None of these



10. The molecular formula of

	a) Is C7H14
	b) Is C6H14
	c) Is C7H8

	d) Is C7H9
	e) Is C6H8
	



11. Consider the three isomeric alkanes n-hexane, 2,3-dimethylbutane, and 2- methylpentane. Which of the following correctly lists these compounds in order of increasing boiling point? 
a) 2,3-dimethylbutane < 2-methylpentane < n-hexane
b) 2-methylpentane < n-hexane < 2,3-dimethylbutane
c) 2-methylpentane < 2,3-dimethylbutane < n-hexane
d) n-hexane < 2-methylpentane < 2,3-dimethylbutane
e) n-hexane < 2,3-dimethylbutane < 2-methylpentane

12. Consider the molecule trans-2-butene. Which statement is true?
a) The molecule has two pi bonds.
b) There is free rotation around every bond in the molecule.
c) Cis-2-butene is its structural isomer.
d) Carbon #2 exhibits sp2 hybridization.
e) None of these

13. Hydrogenation of an alkene converts it to an
	a) alkane
	b) alkyne
	c) alcohol

	d) aldehyde
	e) carboxylic acid



14. Which structure can exhibit optical isomerism (chiral)? 
	a) 

	b) 

	c) 


	d) 

	
e) None of these are optical isomers
	




Short Answer (76 points)

1. (4 points) List and describe two differences between nuclear reactions and ordinary chemical reactions










2. (9 points) Determine the type of decay for the following isotopes to make the compound fall in the valley stability and why 

a) Aluminum-28 




b) Titanium-42 




c) Plutonium-239 




3. (12 points) For each of the following decays, write out a nuclear equation predicting the products of the decay:

a. Electron capture by Nb-83



b. Beta (-) decay of Ta-186



c. Alpha decay of Hf-157



d. positron decay of Ne-18




4. (6 points) A person goes to get radiation treatment for cancer utilizing “brachytherapy” in which a small radioactive source is placed directly into the body. The radiation center has some newly created radioactive sources of 192Ir. They start out as 10. Curie sources. Under computer control and robot inserts the source using a long a needle into the patient’s body and holds it there for the treatment. When the source is new, the treatment is 30. minutes.    

Given that the half-‐life of 192Ir is 74 days, what would be the intensity of the source that was originally 10 Curies after 3 months?  



















5. (10 points) The binding energy per nucleon for Mg-27 is 8.288 MeV/nucleon. Calculate the atomic mass of Mg-27.




























6. (4 points) Explain the similarities and differences between fusion and fission.











7. (5 points) A friend takes Rampiril to control high blood pressure. Identify the indicated functional groups 1-5


	
	Functional Groups

	1
	

	2
	

	3
	

	4
	

	5
	




8. (4 points) State whether the structures in each pair below are identical, constitutional isomers, or not related.
[image: ]  			 Answer				
[image: ]
Answer				

9. (6 points) Nomenclature: Write complete names for each of the following:







10. (6 points) Draw the following molecules in structural formula
 
            a) 5-tert-butyl-2-octyne				                        b) trans-5-ethylhept-3-ene










11. (3 points) Draw the structure of the organic product of the following reaction. 




12. (4 points) Explain oxidation and reduction with respect to organic compounds. 











13. (3 points) Draw the dimer that is formed by the reaction of HOOCH2CH2CH2COOH and H2NCH2CH2CH2CH2NH2?

           



image3.emf
C

OH

H

H

C

OH

C

H

H

H

H



image4.emf
C

H

H

OH

C

H

C

H

OH

H

H



image5.emf
C

OH

H

OH

C

H

C

H

OH

OH

OH



image6.emf
N

C

O

HO

O

HN

O O

1

2

3

4

5




image7.wmf
C

H

3

C

H

2

C

H

C

H

3

C

H

3

C

H

2

C

H

2

C

H

C

H

3

C

H

3

C

H

3

and


image8.wmf
and


image9.emf
CH

3

C

CH

2

CH

2

CH

CH

2

a)

Name______________________________

b)

Name______________________________

HO

Br

CH

3

CH

3



image10.wmf
CH

2

CH

3

H-O-H

H

2

SO

4

 

catalyst



image1.emf



image2.emf
C

H

H

H

C

H

OH

H


